ADO#gEt R ERTIE)

SF6EIA1BIRAE
BTH% Hit 4 B&Et HEE
JIE Hh X /NG 993 1,046 2,039 936
I 0 0 0 0
JNE—TH 295 303 598 285
JNBE=TH 287 267 554 260
JIE=TH 219 229 448 207
g™ T B 180 199 379 148
HEEMA 12 48 60 36
R/ X /e 1,815 1,939 3,754 1,925
f/## 12 57 69 69
H/##—TH 346 378 724 362
E/#8-TH 507 505 1,012 516
H/#=TH 547 561 1,108 532
H/##HETH 403 438 841 446
P X /NET 208 232 440 245
H 208 232 440 245
MHBEE X /NG 4,273 4,445 8,718 4,198
#EAE5—TH 1,142 1,040 2,182 1,135
MBS "TH 1,449 1,527 2,976 1,354
#EAE=TH 1,389 1,535 2,924 1,386
#EASMNTH 293 343 636 323
SHT Hh X /NET 2,616 2,412 5,028 2,717
*ET—TH 1,161 1,072 2,233 1,203
XET-TH 1,455 1,340 2,795 1,514
XET=TH 0 0 0 0
ko B R/ 3,265 3,010 6,275 3,110
&y E—TBH 642 645 1,287 657
¥ByE=TH 795 801 1,596 753
#rE=TH 388 356 744 369
HkoEMTAH 631 527 1,158 563
sy ERTH 809 681 1,490 768
ESNE = 490 470 960 453
EN—TH 108 120 228 103
EJN=-TH 382 350 732 350




ADO#gEt R ERTIE)

SF6EIA1BIRAE

BITH% Hit =i B&Et HEE
ETREMR/NE 2,112 2,018 4,130 2,199
EXRFE—TH 1,118 1,097 2,215 1,111
EXRF=-TH 966 886 1,852 1,064
EXRFE=TH 28 35 63 24
FEH X /NG 1,640 1,636 3,276 1,606
FE—TH 751 750 1,501 799
PE-TH 272 296 568 267
PE=TH 617 590 1,207 540
Fhih X /e 1,866 1,846 3,712 1,675
Fh—TH 412 417 829 387
Fh=TH 614 595 1,209 544
FH=TH 555 552 1,107 512
PHEmTH 285 282 567 232
PImEMR /NG 2,155 2,123 4,278 1,871
FmxE—TH 677 637 1,314 628
FMEZTH 510 536 1,046 479
FmME=TH 544 514 1,058 407
PmEMTH 424 436 860 357
P X /NGt 1,478 1,330 2,808 1,198
FE—TH 702 629 1,331 585
FE_TH 386 336 722 313
FE=TH 390 365 755 300
WERTHE X /M ET 1,466 1,402 2,868 1,271
WERT—TH 63 48 111 54
MERT—TH 998 973 1,971 845
NER=TH 405 381 786 372
IMEE X /T 3,172 2,895 6,067 3,256
IMEE—TEH 438 413 851 498
IMEEZTH 797 615 1,412 833
IMEE=TH 670 630 1,300 660
IMEETTH 443 446 889 445
IMEERTH 824 791 1,615 820

=&t 27,549 26,804 54,353 26,660




